EG4" BOSSBOX

USER MANUAL

©2025 EG4®° ELECTRONICS, LLC. ALL RIGHTS RESERVED.

VERSION 1.0 | INFORMATION SUBJECT TO CHANGE WITHOUT NOTICE.
MODEL #: BB-PP-280A-BD-AW-00


https://eg4electronics.com/wp-content/uploads/2024/12/EG4-ESS76-User-Manual.pdf

EGy ELECTRONICS

TABLE OF CONTENTS
1. TECHNICAL SPECIFICATIONS woooreeeeeeeeeeeeseeeeeeeeesesesesesssesssesessessssessssessssssssesessssesssssssesessssessssessessessssssssssmseees 1
2. ABBREVIATIONS ceoeeoeeeeeeeeeeeeeseseeesesesessesessssesssesesesssssesssessasessssessasesssessssesessmsssssesessasesessssesesessmsssessssssesmssssenns 2
3. INVERTER SAFETY cooreeeeeeeeeeeeesesesseeessessssesssssessssessssesssssessasessssssssasessasesssessssasesesssssessssssessssssssessssmssssssssssssmsessenens 3
3.1 SAFETY INSTRUCTIONS oo eeeeeeeeeeeeeeeneeesesesseesessesssessasesssssessssessssessssssssssessssssssssessasssssssssasessmsessssssssees 3
3.2 IMPORTANT SAFETY NOTIFICATIONS oot eeeeesesessessessssesssseesssessesessssssssssssssssssssssssessssssennns 3
4. SECURITE DE L'ONDULEUR .o ieeeeeeeeeeseeesseeseseeesseessssessssesesssssssesssessssssessessssesesmsssssessssssemmssssssssessssssssssmsssenne 5
4.1 INSTRUCTIONS DE SE’CURITE’ ................................................................................................................... 5
4.2 NOTIFICATIONS DE SECURITE IMPORTANTES c...eeeeeemeeeeeeeeereseeeseseesssessssssesssessssessssssssssesesessssssmes 5
B. BATTERY SAFETY woeeeeeeeeeeeeseteseessssessssesssssssssesssssssssssssssssssssssssessssesssssssmsessssssesssssssessssssssmsssssssssssssssssssssssnnns 7
5.1 SAFETY INSTRUCTIONS ceoneeeeeeeeereeeeeeeeeeeesseessseessssesssesssesessessssesssesssssssesesssssesssessseesssssessessmsesemsssessees 7
5.2 IMPORTANT SAFETY NOTIFICATIONS «.eoeeeeeeeeeeeeeeeeeseeeseeessseesseessseessseeseseensessssessssesssssessessssesennne 7
B.  SECURITE DE LA BATTERIE ceueeereeeeeeeeeeeeeeeeeeeesseseesenseessssessesssssssessssssssssssssssessessssssssesssssmsesssssssssmsesssssssenses 9
6.1 CONSIGNES DE SECURITE ...oocoreverssrsessssssssssssssssssssssss s s sssss s s ssss s s s s ssss s 9
6.2 NOTIFICATIONS DE SECURITE IMPORTANTES ....ceemeeeereeeeeeeneeeeseeessesssessmsssnsesssssssssssssmssssssssasssssans 9
7. PRODUCT OVERVIEW ceoneeeeeeneeeeeeeeeeeeeseeeseeseseeeseseesssessssessssssesssessssesssssssasesssssemsessasesesesemsesssessssssssssssssessnnns 1
7.1 PACKING LIST wereeeeeeeeeeeeeeeeseeesseeesseessesessessssssssssssssesssessesesesssssessssssesssesessssesssssssssssssssssssesesessessesssesens 1
7.2 DIMIENSIONS oo eeeeeeeeeeeesseeessesessseesseseseesesssessssesessesssesesesessssessmsesesesessesssasessasesesesssmsessmsessmsesnas 14
7.3 BATTERY PLACEMENT &t CABLING .vveereeeeeeeeneeeeeeeeseeesseeesssesessesessesesssesesesesssesssessasesssssssssesssesssseenes 16
8. GENERAL INSTALLATION ceorveereeeneeeseeeeeeeeseessssessessesessessssessmsssmssessasessassssasessssessassessasessssssssmsssssssssssssssssssssees 21
8.1 RECOMMENDED TOOLS weooreeeeeeeereeeeeeeeseeeeseresesessseessesseseessssesssessssesessesssesssesessessasessmesssssesssessmsseenes 21
8.1 LOCATION REQUIREMENTS......oeeerreemnereemsseemsssssssssssssssssssssssssssssssssssmsssssssssssssssssssmsssssssssssssessssmssssnns 22
8.2 CABINET, BATTERIES, & INVERTERS «..eeeeeeeereeeeneeeeeeemmeesessessssseesesessssesssssesssessssessmsssessessmssssassesssessns 24
G, IVIAINTENANCE oot eeeeeeessseeeesesesesessesessessssesesesesssessasessssesessesesssssseseseseseessasessasessassssssesssesensssenas 36

TO.  CHANGELODG . ..coiiiriiriiintriisescsicitsessisesesittsssassssesssitssssssssssessssstssssssssessssstassssssssssessstsssssssesesssssssssssssesessssases 37



EGy ELECTRONICS

1. TECHNICAL SPECIFICATIONS

GENERAL DATA

WEIGHT - EMPTY 397 Ibs. (180 kg)

WEIGHT - 2 INVERTERS + 3 BATTERIES ~1821 Ibs. (826 kg)*
DIMENSIONS - WITH NO INVERTERS (HxWxD) 54.4x48%32.1 in. (1381.5x1220%815.5 mm)
DIMENSIONS - WITH 2 INVERTERS (HxWxD) 54.4x78.3x32.1 in. (1381.5%x1990%x815.5 mm)**
SUPPORTED INVERTERS 12kPV, 18kPV, FlexBOSS18, FlexBOSS21
SUPPORTED BATTERIES WallMount All Weather Battery***
WARRANTY 5 years****

SAFETY & CERTIFICATIONS

CERTIFICATIONS UL9540A (pending), UN38.3 (pending)
WEATHER RATING NEMA 3R (pending)

*Weight is approximate and could vary depending on the installed inverter model and length of cables.
**The total width is approximate and could vary depending on the installed inverter model.

***Only WallMount All Weather batteries with adjustable feet are supported. Adjustable feet are required to support the
weight of the battery to avoid damage to the battery bracket, battery, and attachment points.

****Eor information regarding warranty registration on EG4® Electronics products, please navigate to
https://eg4electronics.com/warranty/ and select the corresponding product to begin the registration process.



https://eg4electronics.com/categories/batteries/wpower-16-280-aw-powerpro-wallmount-all-weather/
https://eg4electronics.com/warranty/

ABBREVIATIONS

AWG — American Wire Gauge
A—Amps

Ah — Amp hour(s)

AC — Alternating Current

AFCI — Arc-Fault Circuit Interrupter
AHJ — Authority Having Jurisdiction
kAIC — kilo-Amp Interrupting Capability
ANSI — American National Standards Institute
BAT — Battery

BMS — Battery Management System
COM — Communication

CT — Current Transformer
DC — Direct Current

DIP — Dual In-line Package

DOD - Depth of Discharge

EG - Equipment Ground

EGS — Equipment Grounding System
EMC - Electromagnetic Compatibility
EPS — Emergency Power System

ESS - Energy Storage System

E-Stop — Emergency Stop

FCC — Federal Communication Commission
GE - Grounding Electrode

GEC - Grounding Electrode Conductor
GFCI — Ground Fault Circuit Interrupter
GFDI — Ground Fault Detector/Interrupter

Imp — Maximum Power Point Current

IEEE — Institute of Electrical and Electronic
Engineers

IP — Ingress Protection

Isc — Short-Circuit Current

EGy ELECTRONICS

In-Ibs. — Inch Pounds

kW — Kilowatt

kWh — Kilowatt-hour

LCD - Liquid Crystal Display
LFP — Lithium Iron Phosphate
L1 - Line 1

L2 — Line 2

mm — Millimeters

MPPT — Maximum Power Point Tracking
mV — Millivolt

N — Neutral

NEC — National Electric Code

NEMA — National Electrical Manufacturers
Association

NFPA — National Fire Prevention Association
Nm — Newton Meters

NOCT — Normal Operating Cell Temperature
PC — Personal Computer

PCB — Printed Circuit Board

PE - Protective Earth

PPE — Personal Protective Equipment

PV — Photovoltaic

RSD — Rapid Shut Down

SCC - Standards Council of Canada

SOC - State of Charge

STC — Standard Testing Conditions

UL — Underwriters Laboratories

UPS — Uninterrupted Power Supply
V — Volts

VOC - Open-Circuit Voltage

VMP — Voltage Maximum Power



EGy ELECTRONICS

3. INVERTER SAFETY
3.1 SAFETY INSTRUCTIONS

International safety regulations have been strictly observed in the design and testing of the inverter.
Before beginning any work, carefully read all safety instructions, and always observe them when
working on or with the inverter. The installation must follow all applicable national or local standards
and regulations. Consult with the local AHJ and/or utility to obtain the proper permits and
permissions before installation.

Incorrect installation may cause:
e Injury or death to the installer, operator or third party
o Damage to the inverter or other attached equipment

3.2 IMPORTANT SAFETY NOTIFICATIONS
A DANGER: Hazardous Voltage Circuits!

There are various safety concerns that must be carefully observed before, during, and
CEEED after the installation, as well as during future operation and maintenance. The following
are important safety notifications for the installer and any end users of this product under
normal operating conditions.
1. Beware of high PV voltage. Install an external DC disconnect switch or breaker and
ensure it is in the “off” or “open” position before installing or working on the inverter. Use
a voltmeter to confirm there is no DC voltage present to avoid electric shock.

2. Beware of high grid voltage. Ensure the AC switch and/or AC breaker are in the “off”
or “open” position before installing or working on the inverter. Use a voltmeter to confirm
there is no voltage present to avoid electric shock.

3. Beware of high battery current. Ensure that the battery module breakers and/or on/off
switches are in the “open” or “off” position before installing or working on the inverter.
Use a voltmeter to confirm there is no DC voltage present to avoid electric shock.

4. Do not open the inverter while it is operating to avoid electric shock and damage
from live voltage and current within the system.

5. Do not make any connections or disconnections (PV, battery, grid, communication, etc.)
while the inverter is operating.

6. An installer should make sure to be well protected by reasonable and professional
insulative equipment [e.g., personal protective equipment (PPE)].

7. Before installing, operating, or maintaining the system, it is important to inspect all
existing wiring to ensure that it meets the appropriate specifications and conditions for
use.

8. Ensure that the PV, battery, and grid connections to the inverter are secure and proper
to prevent damage or injuries caused by improper installation.

9. Some components of the system can be very heavy. Be sure to utilize team-lift among
other safe lifting techniques throughout the installation.



EGy ELECTRONICS

s_  WARNING: TO REDUCE THE RISK OF INJURY, READ ALL INSTRUCTIONS!

“-A All work on this product (system design, installation, operation, setting, configuration, and
maintenance) must be carried out by qualified personnel. To reduce the risk of electric shock, do
not perform any servicing other than those specified in the operating instructions unless
qualified to do so.

1.

a0

i.. WARNING!

Read all instructions before installing. For electrical work, follow all local and national
wiring standards, regulations, and these installation instructions.

Make sure the inverter is properly grounded. All wiring should be in accordance with the
National Electrical Code (NEC), ANSI/NFPA 70.

The inverter and system can inter-connect with the utility grid only if the utility provider
permits. Consult with the local AHJ (Authority Having Jurisdiction) before installing this
product for any additional regulations and requirements for the immediate area.

All warning labels and nameplates on the inverter should be clearly visible and must not
be removed or covered.

The installer should consider the safety of future users when choosing the inverter’s
correct position and location as specified in this manual.

Keep children from touching or misusing the inverter and relevant systems.

Beware! The inverter and some parts of the system can be hot when in use. Do not
touch the inverter’s surface or most of the parts when they are operating. During
operation, only the LCD and buttons should be touched.

Cancer and Reproductive Harm — See www.P65Warnings.ca.qgov for more details.

DISCLAIMER

EG4® reserves the right to make changes to the material herein at any time without notice.
Please refer to www.eg4electronics.com for the most updated version of our manuals/spec sheets.



https://eg4electronics.com/
http://www.p65warnings.ca.gov/

EGy ELECTRONICS

4. SECURITE DE LONDULEUR

4.1

INSTRUCTIONS DE SECURITE

Les réglementations internationales de sécurité ont été strictement observées lors de la conception et
des tests de I'onduleur. Avant de commencer tout travail, lisez attentivement toutes les instructions de
sécurité et respectez-les toujours lorsque vous travaillez sur ou avec l'onduleur. L'installation doit suivre
toutes les normes et réglementations nationales ou locales applicables. Consultez 'autorité locale
compétente et/ou le fournisseur d'électricité pour obtenir les permis et autorisations nécessaires avant

I'installation.

Une installation incorrecte peut causer:

Des blessures ou la mort de l'installateur, de I'opérateur ou d'un tiers
Des dommages a I'onduleur ou a d'autres équipements connectés

4.2 NOTIFICATIONS DE SECURITE IMPORTANTES
DANGER: Circuits a haute tension!

Il y a divers problémes de sécurité qui doivent étre soigneusement observés avant,
pendant et aprés l'installation, ainsi que pendant I'exploitation et la maintenance futures.
Les notifications de sécurité suivantes sont importantes pour l'installateur et tout
utilisateur final de ce produit dans des conditions normales de fonctionnement.

D,

1.

Attention a la haute tension PV. Installez un interrupteur ou disjoncteur externe de
déconnexion DC et assurez-vous qu'il est en position "off" ou "ouvert" avant d'installer
ou de travailler sur I'onduleur. Utilisez un voltmétre pour confirmer qu'il n'y a pas de
tension DC présente afin d'éviter les chocs électriques.

Attention a la haute tension du réseau. Assurez-vous que l'interrupteur AC et/ou le
disjoncteur AC sont en position "off" ou "ouvert" avant d'installer ou de travailler sur
I'onduleur. Utilisez un voltmétre pour confirmer qu'il n'y a pas de tension présente afin
d'éviter les chocs électriques.

Attention au courant élevé de la batterie. Assurez-vous que les disjoncteurs des
modules de batterie et/ou les interrupteurs on/off sont en position "ouvert" ou "off" avant
d'installer ou de travailler sur I'onduleur. Utilisez un voltmétre pour confirmer qu'il n'y a
pas de tension DC présente afin d'éviter les chocs électriques.

Ne pas ouvrir I'onduleur pendant qu'il fonctionne pour éviter les chocs
électriques et les dommages dus a la tension et au courant en direct dans le
systéme.

Ne pas effectuer de connexions ou de déconnexions (PV, batterie, réseau,
communication, etc.) pendant que I'onduleur fonctionne.

Un installateur doit s'assurer d'étre bien protégé par un équipement isolant raisonnable
et professionnel (par exemple, équipement de protection individuelle (EPI)).

Avant d'installer, d'exploiter ou de maintenir le systéme, il est important d'inspecter tous
les cablages existants pour s'assurer qu'ils répondent aux spécifications et conditions
appropriées pour l'utilisation.

Assurez-vous que les connexions PV, batterie et réseau a I'onduleur sont sécurisees et
appropriées pour éviter les dommages ou les blessures causés par une installation
incorrecte.

Certains composants du systéme peuvent étre tres lourds. Assurez-vous d'utiliser des
techniques de levage en équipe parmi d'autres techniques de levage sdres tout au long
de l'installation.



EGy ELECTRONICS

%_  AVERTISSEMENT : POUR REDUIRE LE RISQUE DE BLESSURE, LISEZ
“—A TOUTES LES INSTRUCTIONS !

Tous les travaux sur ce produit (conception du systéme, installation, exploitation, réglage,
configuration et maintenance) doivent étre effectués par du personnel qualifié. Pour réduire le
risque de choc électrique, ne réalisez aucun entretien autre que ceux spécifiés dans les
instructions de fonctionnement, sauf si vous étes qualifié pour le faire.
1. Lisez toutes les instructions avant d'installer. Pour les travaux électriques, suivez toutes
les normes et réglementations locales et nationales de cablage, ainsi que ces
instructions d'installation.

2. Assurez-vous que l'onduleur est correctement mis a la terre. Tous les cablages doivent
étre conformes au Code National de I'Electricité (NEC), ANSI/NFPA 70.

3. L'onduleur et le systéme peuvent se connecter au réseau électrique uniquement si le
fournisseur d'électricité le permet. Consultez l'autorité locale compétente avant
d'installer ce produit pour toute réglementation et exigence supplémentaire pour la
zone immédiate.

4. Toutes les étiquettes d'avertissement et les plaques signalétiques sur I'onduleur doivent
étre clairement visibles et ne doivent pas étre retirées ou couvertes.

5. L'installateur doit tenir compte de la sécurité des futurs utilisateurs lors du choix de la
position et de I'emplacement corrects de I'onduleur, comme spécifié dans ce manuel.

6. Empéchez les enfants de toucher ou de mal utiliser I'onduleur et les systémes
pertinents.

7. Attention ! L'onduleur et certaines parties du systéme peuvent étre chauds lorsqu'ils
sont utilisés. Ne touchez pas la surface de I'onduleur ou la plupart des piéces
lorsqu'elles fonctionnent. Pendant le fonctionnement, seuls I'écran LCD et les boutons
doivent étre touchés.

a0

] AVERTISSEMENT!

Cancer et dommages reproductifs — Voir www.P65Warnings.ca.gov pour plus de
détails.

DISCLAIMER
EG4® se réserve le droit de modifier le contenu de ce document a tout moment sans préavis. Veuillez

consulter www.eg4electronics.com pour la version la plus récente de nos manuels/fiches techniques.



www.eg4electronics.com

EGy ELECTRONICS

5. BATTERY SAFETY
5.1 SAFETY INSTRUCTIONS

Before any work begins, carefully read all safety instructions, and always observe them when
working on or with the battery. The installation must follow all applicable national or local standards
and regulations. Consult with the local AHJ and/or utility to obtain the proper permits and
permissions before installation.

Incorrect installation may cause:
e Injury or death to the installer, operator or third party
o Damage to the battery or other attached equipment

5.2 IMPORTANT SAFETY NOTIFICATIONS
A DANGER! Hazardous Voltage Circuits!

There are various safety concerns that must be carefully observed before, during, and
after the installation, as well as during future operation and maintenance. The following
are important safety notifications for the installer and any end users of this product under
normal operating conditions.

1. Do not disassemble the battery. Contact the distributor for any issues that need repair
for more information and proper handling instructions. Incorrect servicing or re-
assembly may result in a risk of electric shock or fire and void the warranty.

2. Never short-circuit DC inputs. Short-circuiting the battery may result in a risk of
electric shock or fire and can lead to severe injury or death and/or permanent damage
to the unit and/or any connected equipment.

3. Use caution when working with metal tools on or around batteries and systems.
Risk of electrical arcs and/or short circuiting of equipment can lead to severe injury or
death and equipment damage.

4. Beware of high battery current. Ensure that the battery module breakers and/or on/off
switches are in the “open” or “off” position before installing or working on the battery.
Use a voltmeter to confirm there is no voltage present to avoid electric shock.

5. Do not make any connections or disconnections to the system while the batteries
are operating. Damage to system components or risk of electrical shock may occur if
working with energized batteries.

6. Make sure the battery and rack are properly grounded.

7. An installer should make sure to be well protected by reasonable and professional
insulative equipment [e.g., personal protective equipment (PPE)].

8. Before installing, operating, or maintaining the system, it is important to inspect all
existing wiring to ensure it meets the appropriate specifications and conditions for use.

9. Ensure that the battery and system component connections are secure and proper to
prevent damage or injuries caused by improper installation.



EGy ELECTRONICS

s_  WARNING: TO REDUCE THE RISK OF INJURY, READ ALL INSTRUCTIONS!

“-A All work on this product (system design, installation, operation, setting, configuration, and
maintenance) must be carried out by qualified personnel. To reduce the risk of electric shock, do
not perform any servicing other than those specified in the operating instructions unless
qualified to do so.

1. Read all instructions before commencing installation. For electrical work, follow all local
and national wiring standards, regulations, and these installation instructions. All wiring
should be in accordance with the National Electrical Code (NEC), ANSI/NFPA 70.

2. The battery and system can connect with the utility grid only if the utility provider
permits. Consult with the local AHJ before installing this product for any additional
regulations and requirements for the area.

3. All warning labels and nameplates on this battery should be clearly visible and must not
be removed or covered.

4. The installer should consider the safety of future users when choosing the battery’s
correct position and location as specified in this manual.

5. Keep children away from touching or misusing the battery and relevant systems.

The battery is designed to stop charging when reaching the low threshold of 32°F. If charging current
is observed when the internal battery temperature is below 32°F, disconnect battery immediately and
consult distributor.

a0

ih WARNING!
Cancer and Reproductive Harm — See www.P65Warnings.ca.qgov for more details.

DISCLAIMER
EG4® reserves the right to make changes to the material herein at any time without notice.
Please refer to www.eg4electronics.com for the most updated version of our manuals/spec sheets.



https://eg4electronics.com/
http://www.p65warnings.ca.gov/

EGy ELECTRONICS

6. SECURITE DE LA BATTERIE
6.1 CONSIGNES DE SECURITE

Avant de commencer tout travail, lisez attentivement toutes les consignes de sécurité et respectez-
les toujours lorsque vous travaillez sur ou avec la batterie. L'installation doit étre conforme a toutes
les normes et réglementations nationales ou locales applicables. Consultez I'autorité compétente
locale et/ou le service public pour obtenir les permis et les autorisations appropriés avant
l'installation.

Une installation incorrecte peut entrainer les effets suivants :

e Blessure ou décés de l'installateur, de I'exploitant ou d'un tiers
o Dommages a la batterie ou a tout autre équipement attaché

6.2 NOTIFICATIONS DE SECURITE IMPORTANTES

A DANGER: Circuits & haute tension!
Il existe divers problémes de sécurité qui doivent étre soigneusement observés
[EANGER] avant, pendant et aprés l'installation, ainsi que lors de I'utilisation et de la

maintenance futures. Ce qui suit sont des notifications de sécurité importantes pour
l'installateur et tout utilisateur final de ce produit dans des conditions de
fonctionnement normales.

1. Ne démontez pas la batterie. Contactez le distributeur pour tout probléme
nécessitant une réparation pour plus d'informations et des instructions de
manipulation appropriées. Un entretien ou un remontage incorrect peut entrainer un
risque d'électrocution ou d'incendie et annuler la garantie.

2. Ne court-circuitez jamais les entrées CC. Un court-circuit de la batterie peut
entrainer un risque d'électrocution ou d'incendie et peut entrainer des blessures
graves ou la mort et/ou des dommages permanents a I'appareil et/ou a tout
équipement connecté.

3. Soyez prudent lorsque vous travaillez avec des outils métalliques sur ou a
proximité des batteries et des systémes. Le risque d'arcs électriques et/ou de
court-circuit de I'équipement peut entrainer des blessures graves ou la mort et des
dommages a I'équipement.

4. Attention au courant de batterie élevé. Assurez-vous que les disjoncteurs du
module de batterie et/ou les interrupteurs marche/arrét sont en position « ouvert »
ou « arrét » avant d'installer ou de travailler sur la batterie. Utilisez un voltmeétre
pour confirmer qu'il n'y a pas de tension présente afin d'éviter les chocs électriques.

5. N'effectuez aucune connexion ou déconnexion du systéme pendant que les
batteries fonctionnent. Des dommages aux composants du systéme ou un risque
d'électrocution peuvent survenir si vous travaillez avec des batteries sous tension.

6. Assurez-vous que le banc de batteries est correctement mis a la terre.

7. Un installateur doit s'assurer d'étre bien protégé par un équipement isolant
raisonnable et professionnel [par exemple, un équipement de protection individuelle
(EPI)].

8. Avant d'installer, d'utiliser ou d'entretenir le systéme, il est important d'inspecter tout
le cablage existant pour s'assurer qu'il répond aux spécifications et aux conditions
d'utilisation appropriées.

9. Assurez-vous que les connexions de la batterie et des composants du systéme sont
sécurisées et appropriées pour éviter les dommages ou les blessures causés par
une mauvaise installation.



e

EGy ELECTRONICS

AVERTISSEMENT : Pour réduire le risque de blessure, lisez toutes les

‘[A instructions !

Tous les travaux sur ce produit (conception du systéme, installation, fonctionnement, réglage,
configuration et maintenance) doivent étre effectués par du personnel qualifié. Pour réduire le
risque d'électrocution, n'effectuez aucun entretien autre que ceux spécifiés dans le mode
d'emploi, a moins d'étre qualifié pour le faire.

1.

Lisez toutes les instructions avant de commencer l'installation. Pour les travaux
électriques, suivez toutes les normes de cablage locales et nationales, les
réglementations et ces instructions d'installation. Tout le cablage doit étre conforme
au Code national de I'électricité (NEC), ANSI/NFPA 70.

La batterie et le systéme ne peuvent se connecter au réseau public que si le
fournisseur d'électricité I'autorise. Consultez I'AHJ local avant d'installer ce produit
pour connaitre les réglementations et exigences supplémentaires de la région.

Toutes les étiquettes d'avertissement et les plaques signalétiques de cette batterie
doivent étre clairement visibles et ne doivent pas étre retirées ou couvertes.

L'installateur doit tenir compte de la sécurité des futurs utilisateurs lors du choix de
la position et de I'emplacement corrects de la batterie, comme spécifié dans ce
manuel.

Tenez les enfants a I'écart de la batterie et des systémes concernés ou de les
utiliser & mauvais escient.

La batterie est congue pour arréter de se charger lorsqu'elle atteint le seuil bas de 23 °F. Si un
courant de charge est observé lorsque la température interne de la batterie est inférieure a 23 °F,
débranchez immédiatement la batterie et consultez le distributeur.

® Cancer et troubles de la reproduction — Voir WWW.P65WARNINGS.CA.GOV pour

“—A plus de détails.

DISCLAIMER EG4°® se réserve le droit de modifier le contenu de ce document a tout moment sans

préavis. Veuillez consulter www.eg4electronics.com pour la version la plus récente de nos
manuels/fiches techniques.

10


www.eg4electronics.com
http://www.p65warnings.ca.gov/

EGy ELECTRONICS

7. PRODUCT OVERVIEW

The BOSSBox is a specially designed metal cabinet that creates a versatile power station with EG4®
hybrid inverters and WallMount All Weather (AW) 280Ah Lithium Batteries. The minimum configuration
comprises one hybrid inverter and two Wallmount AW batteries, and the maximum configuration
consists of two hybrid inverters and three Wallmount AW 280Ah batteries.

SUPPORTED INVERTERS SUPPORTED BATTERY
12kPV
18kPV EG4® WallMount All Weather Battery*
FlexBOSS18
FlexBOSS21

*Only WallMount All Weather batteries with adjustable feet are supported. Adjustable feet are

required to support the weight of the battery to avoid damage to the battery bracket, battery, and
attachment points.

7.1 PACKING LIST

The BOSSBox will ship on a pallet with the items in the packing list. The individual components are
labeled in the image below, followed by the packing list on the next page. Contact the distributor if
anything is missing.

11


https://eg4electronics.com/categories/batteries/wpower-16-280-aw-powerpro-wallmount-all-weather/

EGy ELECTRONICS

NAME IMAGE QTY NOTE

Base l ' 1 Cabinet base
Outer wall = T , / 2 Cabinet outer wall
Inner wall 2 Cabinet inner wall
Top frame / i T / 1 Cabinet top frame
Top cover _ / 1 Cabinet top cover

Left door panel 2 Cabinet left door

Right door panel — - 2 Cabinet right door

Installed on left doors to

Lock catch 2 work with handle ass_embly

f‘-T = to secure the doors in the
- closed position

Top frame to center wall

Top frame bracket \/N"‘ 4 bracket

Front door (or rear door)

Air intake cover & N 2 ac
V/ air intake cover

Provides hard stop for the
Doorstop 2
&S e doors when closed

~ RSN Used to open & close the
Lock assembly SN 4 2 right door and secure the
s doors from being opened
o @ Used with lock assembly
M4 flange nut @"3"'\_;"’ 12 and doorstop




EGy ELECTRONICS

Hexagonal cross recess 32 Used with air intake cover
combination screws - M4*10 D = and doorstop
Hexagonal cross recess 8 Used with the lock
combination screws - M4*12 5 - = assembly
Hexagc.)nall CroSS recess Used with battery wall
combination screws - oy 18 mount brackets
M10*25 o -
Phillips head screws - M6*16 4 Use with top cover
* Used with inverter main
M8*16 bolts = 12 1 pracket and lower brackets
Hexagonal cross recess 12 Used with the center and
combination screws - M6*16 5 - > = outer walls to the base
Used with inner & outer
Hexagonal cross recess 36 walls and top frame
combination screws - M6*20 5 - 2 = P
- o brackets
20 Hexagonal cross recess 6 Used with the top frame to
combination screws - M6*35 the outer walls
21 Expansion bolt - M12*70 4 Used to secure the base to
the floor
Pre-installed in the outer
24 Black silicone hole plugs 12 | walls to protect the inverter
bracket mounting holes
84 in. (2134 mm) Used to connect the
25 Degson positive battery to 2 battery positive to the
inverter cable inverter positive
84 in. (2134 mm) Used to connect the
26 | Degson negative inverter to 2 battery negative to the
battery cable inverter negative
20 ft. (6096 mm) CAT Connect the master
27 o 1 inverter to a parallel
communication cable .
inverter




7.2 DIMENSIONS

[+— 29.63 in. (848.5 mm) >

EGy ELECTRONICS

32.11in. (815.5 mm) —————»
O 00O O
O 0O O

44.96 in. (1142 mm) ~I

[z056 BOX ||l

(Ww gL8elL) "uI gevs

48.03 in. (1220 mm)

14



EGy ELECTRONICS

QO

__________________________

e & L e & L]
LOCATION INCH MM LOCATION UTS;R A\ISENQ:;QL ACTUALSIZE
A 2.95 75
B 5.67 144 H 2in. 2.48in. (63 mm)
C 2.25 57 I 11/2in. 1.99 in. (50.5 mm)
D 3.07 78 J 3/4in. 1.121in. (28.5 mm)
E 3.35 85
F 8.98 228
G 2.95 75




EGy ELECTRONICS

7.3 BATTERY PLACEMENT & CABLING

This section describes where to place the equipment inside and outside the BOSSBox. The
BOSSBox includes one BOSSBox cable kit, as shown in the table below. Additional cables must be
purchased separately when adding a second inverter or more than one battery. Use this section to
reference the suggested cable kits (shown below). The following pages describe cable placement,
and the minimum suggested cable lengths when using custom-fabricated cables. Refer to section 8
for the general assembly steps, including cabinet assembly and the inverter and battery attachment
process.

The table below lists the available kits and parts that can be purchased from an EG4 distributor:

QTY
LOCATION MANUFACTURER SKU NEEDED KIT INCLUDES
. ¢ 84 in. (2134 mm) Degson positive battery to inverter cable (qty: 2)

Inl\algggyto (IIBE gggs;;réi;zllit) in\1/epr?err* ¢ 84 in. (2134 mm) Degson negative battery to inverter cable (qty: 2)

¢ 20 ft. (6096 mm) CAT5 communication cable (qty: 1)

o
ﬁ +
dt
BOSSBox Cable Kit Inverter AW Battery

Battery to EG4SPWMBPWRCBLEKIT 1 of each | ®53.1in. (1349 mm) Red positive battery parallel cable (qty: 2)
Battery (EG4 WallMount AllWeather | per battery | e 53.1 in. (1349 mm) Black negative battery parallel cable (qty: 2)
(option 1) | Battery Paralleling Cable Kit) | to battery | ¢ 59.1 in. (1501 mm) CAT5 parallel communication cable (qty: 1)

O —
(R I

AW Battery Parallel I L

Cable Kit AW Battery AW Battery
EG4SPDEGSNPLGBLK )
(EG4 WallMount AllWeather » Degson negative battery cable connector (qty: 1)
Battery to Battery Connectors - Black) 1 of each | ® Degson positive battery cable connector (qty: 1)
Battery per battery

. Note: A crimping tool is required to install the Degson connector on
(option 2) EG4SPDEGSNPLGRED to battery the non-connector end of the 39.4 in. cable included with the AW
(EG4 WallMount AllWeather battery.

Battery Connectors - Red)

+

Degson Connectors AW Battery & CAT5 Cables )

EG4 WallMount AllWeather . .
( Battery ann ectors) (included with AW battery) AW Battery AW Battery

*One BOSSBox cable kit is included with the BOSSBox

16



EGy ELECTRONICS

1 Inverter + 2 Batteries Required Cables:

e 72in. (1829 mm) battery “-” to inverter “-” black cable (qty: 2)*
Supported Inverters: e 72in. (1829 mm) battery “+” to inverter “+” red cable (qty: 2)*
o 12kPV e 24 in. (610 mm) battery “-” to battery “-” black cable (qty: 1)*
o 18kPV e 24in. (610 mm) battery “+” to battery “+” red cable (qty: 1)*
e FlexBOSS18 e Inverter to battery communication cable (qty: 1)
e FlexBOSS21 o Battery to battery communication cable (qty: 1)

*Recommended minimum length for custom-fabricated cables

N ‘ [ 7 ;n u Zill

Battery to Battery
Black “-“ Cable

| A

Inverter to Battery
Black “-“ Cable (x2)

Battery to Battery |[\——
Red “+” Cable . L

M= = J|

[P NP

] 2
[ﬁ Battery to Battery /L

‘ T Communication

Cable -

il HilN

1 Inverter to Battery [T
ﬁ Communication |“|||i|||n |
Il

‘ Cable |
I

Inverter to Battery
Red “+” Cable (x2)

o

Ind
i s TS,
I =

= g — le

Back View




EGy ELECTRONICS

1 Inverter + 3 Batteries

Supported Inverters:
e 12kPV

Required Cables:

72 in. (1829 mm) battery “-” to inverter “-” black cable (qty: 2)*
72 in. (1829 mm) battery “+” to inverter “+” red cable (qty: 2)*
24 in. (610 mm) battery “-” to battery “-” black cable (qty: 2)*
24 in. (610 mm) battery “+” to battery “+” red cable (qty: 2)*
Inverter to battery communication cable (qty: 1)

Battery to battery communication cable (qty: 2)

*Recommended minimum length for custom-fabricated cables

D)

e 18kPV
e FlexBOSS18
e FlexBOSS21
IH
i
|
|
| j
|
| ]
=

‘ [ i ‘ 2 W
’ e
H /

N

o leli:hoYe; o )8 | |-

e 1B

<oy o| DBattery to Battery
Black “-“ Cable (x2)

TeT~
@
=]

f T \
/ \
74 \‘Q\\
/] ! oo\
| \

Inverter to Battery ‘
Black « Cable (x2) 89

it

i\

|

‘ ‘ 1
\ \

Front View ‘
E T T l;‘\
N T -/
LT \
“ o | D T ‘ F
Battery to Battery *

(€

Red “+” Cable (x2)

‘; |
lilz .

[l \\

Battery to Battery
Communication
Cable (x2)

[ ARG

Inverter to Battery
Communication

Inverter to Battery

Red “+” Cable (x2)

Back View u

18



EGy ELECTRONICS

2 Inverters + 2 Batteries Required Cables:

e 72in. (1829 mm) battery “-” to inverter “-” black cable (qty: 4)
Supported Inverters: e 72in. (1829 mm) battery “+” to battery “+” red cable (qty: 4)
e 12kPV e 24 in. (610 mm) battery “-” to inverter “-” black cable (qty: 1)
e 18kPV e 24in. (610 mm) battery “+” to battery “+” red cable (qty: 1)
e FlexBOSS18 e 20 ft. (6096 mm) inverter to inverter parallel cable (qty: 2)
e FlexBOSS21 ¢ Inverter to battery communication cable (qty: 1)

e Battery to battery communication cable (qty: 1)

*Recommended minimum length for custom-fabricated cables

T

I = ) I e

| j = 1| Battery to Battery ] :E |
“ Black “-“ Cable ]| |

| -] | ] | 9

o | 1©o !

. - N
Hl,ﬁ@ = | il
P | l ‘ | !
' | | Inverter to Battery
3 Black “-“ Cable (x4)

J

it
H

. ‘Q 1 (o
4o

B
|

“ Battery to Battery
H Red “+” Cable
‘ [T T T [ &JTT

! - ‘ = H B
ﬂ:@ % attery to Battery

‘ P Communication
Cable

“ NN 8 A
! o Inverter to Battery

\ ) . ‘ Communication
‘ Cable

‘ Inverter to Battery , !
| Red“+” Cable (x4) | —

N\

‘ Back View H ‘

19



EGy ELECTRONICS

2 Inverters + 3 Batteries

Required Cables:

Supported Inverters:

e 12kPV
e 18kPV
e FlexBOSS18
e FlexBOSS21

72 in. (1829 mm) battery “-” to inverter “-” black cable (qty: 4)*
72 in. (1829 mm) battery “+” to inverter “+” red cable (qty: 4)*
24 in. (610 mm) battery “-” to battery “-” black cable (qty: 2)*
24 in. (610 mm) battery “+” to battery “+” red cable (qty: 2)*
20 ft. (6096 mm) Inverter to inverter parallel cable (qty: 2)
Inverter to battery communication cable (qty: 1)

Battery to battery communication cable (qty: 2)

*Recommended minimum length for custom-fabricated cables

Ty
s | S

\ N\

Battery to Battery ||, [
Black “-“ Cable (x2) s :

\ @L ‘ U ) ‘
MTH T E |
‘ o
IR | |
[ TE] fé b (| [ D o g Qe g
W . H } Inverter to Battery ‘ . ‘ F |
Black “-* Cable (x4) i ]
. ; ‘
« o TS -,
= = E_= e = Y
U Fro"nt \;iew ”
. — |
H Battery to Battery Red “+” Cable (x2) H“’
— T 110 = | ‘
el e &)
11 1| 1A
H ’ ‘“ N ‘ 1 [ ]| Battery to Battery
. W e ‘ Communication
#{I ‘ = ~ Cable (x2)
‘“ H ‘ // |
- E] o ‘ Inverter to Battery
| ‘ Comn&ug:catlon
| - ‘ able
O]
S |

Inverter to Battery
Red “+” Cable (x4) | = —

Back View Jﬁ

20



EGy ELECTRONICS

8. GENERAL INSTALLATION

This section provides detailed steps for assembling the cabinet, installing the batteries, and mounting
the inverters.

a0

WARNING:

“-A To reduce the risk of injury, read all instructions! The assembly process requires
working with heavy pieces, and the metal may contain sharp edges. It is highly
recommended that at least two individuals be available to assemble the BOSSBox and
install the batteries and inverters. Always wear the proper personal protective
equipment (PPE) to avoid injury.

8.1 RECOMMENDED TOOLS

Safety Glasses Dielectric Shoes

4 N N N N

== ~

\ Utility Knife / \ Wire Cutter / \ Wire Stripper / \Marking Pen or Pency
N N

SAE & Metric Hex Phillips & Flat Head

\__ WrenchSets / \__ Screwdrivers AN Hammer J
N N
A

/ f}f\\\

b

e

Electric Drill & @

\__ MasonryBit /J \_ Tape Measure AN Multimeter / \___Torque Wrench /

21



EGy ELECTRONICS

8.1 LOCATION REQUIREMENTS

Follow the installation requirements below to ensure all equipment is adequately supported and
protected from extreme weather:

15.8 in. (400 mm)

Before installation, contact the AHJ for any clearances required by local laws and
ordinances.

EG4° recommends that the BOSSBox be placed on a level concrete pad capable of
supporting at least 2,000 Ibs. [With two inverters and three batteries, the weight is
approximately 1,821 Ibs. (826 kgs).]

Avoid positioning the inverter attached to the BOSSBox in extended periods of direct
sunlight.

In hot climates, a shade structure is recommended if the inverter needs to be mounted in an
area exposed to direct sun.

If placed under a covered area, ensure a minimum of 15.8 in. (400 mm) above the inverter
for ventilation. (see image 8.1.)

If installed in a shed or a closed container, ensure proper ventilation is available for inverters.
(Refer to the inverter user manual for more information.)

Do not install in marine environments.

If BOSSBox is installed in a floodplain, ensure that the installation location is elevated above
the expected flood level to ensure it remains dry during flooding. Always consult flood zone
maps and local building codes to determine the appropriate elevation installation.

Maintain the minimum clearances to ensure all component wiring and controls are easily
accessible to support routine operations and maintenance. (see image 8.2 on page 23.)

i | Lg@
E 13 oo
o

Image 8.1

22



EGy ELECTRONICS

?

Recommended:
36 in. (914mm)

Door Width:
20.5in. (521 mm)

\ 4
Recommended:
I : i 36 in. (914mm)* >
Door Width: || | 2 E1 1 Door width
: : 3 BOSSBo oor YVidth.
20in. (508 mm) | | X E 20 in. (508 mm)
> | —]
nﬁ= I g
Recommended: ) )
36 in. (914mm)* A
Door Width:
20.5in. (521 mm)
Recommended:

36 in. (914mm)

*

Image 8.2

*For single inverter installations, a minimum of 6 in. from wall on the non-inverter side is required to access
the rear anchor bolt. Local guidelines for spacing may supersede EG4® recommended spacing requirements.

23



8.2 CABINET, BATTERIES, & INVERTERS

EGy ELECTRONICS

Complete the steps outlined in this section to assemble the BOSSBox cabinet. The image below
refers to the cabinet's front, left, and right sides. The doors that include the air intakes are referenced
as the front of the cabinet, while the back doors do not use air intakes. The left door is also slightly

wider than the right door.

Left

1. Locate a supported location based on section 6.1. Use the cabinet
base as a template to mark the location for the four anchor bolts.
Drill a % inch (16-mm) diameter hole at each mark, ensuring the
holes are at least 1-%e¢ in. (40 mm) deep. Install an M12 anchor bolt
in each hole. Carefully place the cabinet base over the anchor bolts
and torque the nuts to 35 ft-lbs (48Nm).

Right

Air Intake

Required Components:

e Cabinet base
e M12 anchor bolt (qty: 4)

M12 Anchor Bolts

Cabinet Base

M12 Anchor Bolts

24



EGy ELECTRONICS

Install the two inner walls. The inner covering is installed on one
side, but all the screw holes are in identical locations, allowing the
walls to be installed in any direction. Attach each inner wall to the
base using eight M6x16 screws and eight M6x20 screws. The outer
holes require the M6x20 screws, and the inner holes require the
M6x16 screws. Torque each M6 screw to 54 in-lbs. (6Nm).

=

Required Components:
e Inner wall (qty: 2)

e M6x16 screws (qty: 8)
o M6x20 screws (qty: 8)

Top View

—
-]
-]

25



3.

EGy ELECTRONICS

Install the two outer walls. The walls are identical and can be placed
at either end of the base. Use four screws inside and four outside
each outer wall, as shown in the images below. When inserting the
four inside screws, ensure the shorter M6x16 screws are inserted in
the middle two holes and the longer M16x20 screws in the outer
holes. Torque each M6 screw to 54 in-Ibs. (6 Nm).

Required Components:
e Outer wall (qty: 2)

e M6x16 screws (qty: 4)
e M6x20 screws (qty:12)

M6x16 (x2)

O 0000
O 0000

M6x20 (x4)

OO

26




EGy ELECTRONICS

4. Install a battery bracket on each wall using six M10x25 : .
screws for each bracket. The battery bracket is included Required Components..
with the battery, and the M10x25 screws are included with : “BA;t(’[);(zsn?gLivt\;i (ql;[i;lﬁ)ets (aty: 1 - 3)
the BOSSBox. Verify that each battery bracket faces the (inclug’e o the batiery) qay:
same direction to ensure consistent battery polarity, which
supports proper cabling. See section 7.3 for battery
placement when installing less than three batteries. Torque each M10 screw to 168 in-Ibs. (19Nm).

i

[

M10x25 (x6)

5. Using the team-lift technique with a person on each side of the battery, Required Components:
slide the battery or batteries into place. Do not mount the battery onto | | Battery (qty: 1 - 3)
the battery bracket. This will be done in step 7.

x ) I

\

27



6. Set the top frame in place. Then, install the middle column Required Components:
brackets and screw each attachment point in place, as shown in
the second image. Torque each M6 screw to 54 in-lbs. (6Nm).

EGy ELECTRONICS

Top frame

o Top frame brackets (qty: 4)
e M6x20 screws (qty: 16)

e M6x35 screws (qty: 6)

M6x35 (x3)

| Brackets (x4)

M6x20 (x16) [ 1

M6x35 (x3)

28



7.

Mount each battery on the bracket using the
team-lift technique. After the battery is mounted
on the bracket, extend the leveling feet on each
battery. Install the side screws in the mounting
bracket, two screws per side of each bracket.
Torque each M5 screw to 26 in-Ibs. 3Nm).

IMPORTANT:

EGy ELECTRONICS

Required Components:

M5x14 Battery bracket screws (qty: 4 — 12)
(included with the battery)

There are two versions of the Wallmount AW battery. Only the battery with the
adjustable feet is supported with BOSSBox. The battery with non-adjustable feet
cannot be adjusted to support the weight of the battery and could cause damage to

the mounting bracket and the BOSSBox.

UDARRN | | |
| NWIH b1 |“1| |
ju | | M3x14 || 4\F

Extend feet |—.

29



EGy ELECTRONICS

8. Remove the black rubber plugs and install the Required Components:
inverter brackets with the provided M8x16 bolts.
Ensure the bracket is centered on the outer wall.
Then, employ the team-lift technique, ensuring one
person is positioned on each side of the inverter to
mount it securely onto the bracket. Torque each M8
bolt to 138 in-Ibs. (15Nm).

e Inverter (qty: 1 —2)

¢ Inverter wall mount brackets (qty: 1 — 2)
(included with the inverter)

e MB8x16 bolts (qty: 6 — 12)

Repeat this process for the installation of a second inverter.

M8x16 (x4)

30



EGy ELECTRONICS

9. Remove only the required knockouts and install conduit between the
inverter and cabinet to protect the battery and communication
cables. The upper knockouts align with the 12kPV, the FlexBOSS18,
and the FlexBOSS21, while the lower knockouts align with the
18kPV.

Required Components:
e Conduit — (not included)

IMPORTANT:
Protect all cables in metallic conduit or raceways. Exposed cables are unsafe and

violate the NEC code.

12kPV, FlexBOSS18

O
O 100 00 i+
"""""" 18kPV

= A=

E'E)';"C')'@'i‘{ & FlexBOSS21

10. After the conduit is in place, install the L-brackets on

Required Components:

each side of the inverter. Use the four screws included

with the inverter to attach the L-bracket to the inverter. * L-brackets (qty: 2-4)

Use the included M8x16 bolts to attach the L-bracket to (included with the inverter)
the BOSSBox outer wall. Torque each M8 bolt to 138 e L-bracket inverter screws (qty 4 — 8)
in-lbs. (15Nm). (included with the inverter)

M8x16

o L-bracket M8x16 bolts (qty: 2 —4)

31



EGy ELECTRONICS

11. Route the battery and communication cables as described in section 7.3 based on the inverter and
battery quantity installed.

12. Verify that the six latches of the top frame are in the down position.
Next, set the top cover in place and install the four M6x16 screws, one
to each corner of the cabinet top. Lastly, use the six interior latches to
connect the top frame to the top cover. Torque each M6 screw to 54
in-Ibs. (6Nm).

Required Components:

o Cabinet Top
e M6x16 screws (qty: 4)

M6x16 (x4)

The top cover is removed from the image to
show the location of each latch assembly.

g\\
S

32



13. Install the doorstop on each side of the cabinet. The bracket should
be installed with the flat side of the bracket towards the doors and
the screw holes to the inside of the cabinet. Torque each M4 screw to

14 in-Ibs. (1.5Nm).

EGy ELECTRONICS

Required Components:

Doorstop (qty: 2)
M4x10 screws (qty: 4)

14. Install the front and back left door panels. (1) Insert the bottom left
corner of the door into the cabinet base. (2) Align the upper left corner
of the door to the upper slot while pulling down on the spring latch.
Once the upper corner is aligned, release the spring latch to secure the

M4x10 (x2)

Required Components:

o Left door (qty: 2)

door. (3) Push the door closed while pulling in the upper and lower spring latches. Once the door is
closed, release both spring latches to secure the door. The closeup images illustrate the spring

latches located inside the doors.

Inside view

Inside view

==

Align door over -
the metal peg OL/O
/;;’ I:I ,1
2;4 _

-
-
-
-
-
-
=
i
4

j%@ Inside view

33



EGy ELECTRONICS

15. Use the two M4 flange nuts to install the lock catch inside the front Required Components:
k left Is. T h M4 nut to 14 in-lbs. (1.5Nm). '
and back left door panels. Torque eac nut to 14 in-Ibs. (1.5Nm) « Lock catch (qty: 2)

¢ M4 flange nuts (qty: 4)

Inside view

M4 Flange Nut (x2)

16. Install the right door panels on the front and back of the cabinet. Required C ts:
(1) Set the lower corner of the door on the base. (2) While holding the equ.lre or:ponents.
spring latch down, install the upper corner of the door, and then release | ® Right door (qty: 2)

the spring latch to hold the door in place.

Inside view

Align door over
the metal peg




EGy ELECTRONICS

17. Install the lock assembly in the right door panels using the M4x12
screws and M4 flange nuts, as shown in the callout image below.
Torque each M4 nut to 14 in-Ibs. (1.5Nm).

Required Components:

Lock assembly (qty: 2)
M4 flange nuts (qty: 8)
M4x12 screws (qty: 8)

* M4x12 screws (x4)

18. Install the air intake covers on the cabinet's front or back doors
using fourteen M4x10 screws to secure each intake. Be sure to
remove the air inlet knockouts (KO in the image below) on each
door where the intake covers will be installed. Only remove the
knockouts on the doors that use the intake covers. Torque each M4
screw to 14 in-lbs. (1.5Nm).

M4x10 (x14)
S

—

b

— b

| I

f 1ttt

Remove Knockouts | L.

Inside view

M4 Flange
Nuts (x4)

Required Components:

e AirlInlets (qty: 2)
o M4x10 screws (qty: 28)

35



EGy ELECTRONICS

19. Complete the installation by installing the AC output cables, AC input cables, solar panel input
cables, and any other required cabling using the applicable EG4 manuals, which are linked below.

FlexBOSS18 FlexBOSS21 WallMount AW

12kP
Inverter Inverter Inverter Inverter Battery

9. MAINTENANCE

To maintain the serviceable BOSSBox components, follow the steps below:

1. Inspect the door hinges to confirm they are operating smoothly. Add oil to the hinges as

needed.
Lubricate the door lock as needed to ensure smooth operation.
Inspect and clean the air inlet filters as needed.
Touch up any areas of damaged paint to prevent corrosion.
Check for water intrusion after heavy rain, based on the installation location.
Check for pooling water at the BOSSBox installation location after heavy rain.

o0k LN

Contact the distributor’s technical support team if additional information is needed.

36


https://eg4electronics.com/wp-content/uploads/2024/04/EG4-18KPV-12LV-Manual-1.pdf
https://eg4electronics.com/wp-content/uploads/2024/04/EG4-14.3kWh-PowerPro-WallMount-AW-Manual.pdf
https://eg4electronics.com/wp-content/uploads/2024/05/EG4%C2%AE-12kPV-Quick-Start-Guide.pdf
https://eg4electronics.com/wp-content/uploads/2024/08/FlexBOSS-21-Manual.pdf
https://eg4electronics.com/wp-content/uploads/2024/12/EG4-FlexBOSS18-Hybrid-Inverter-User-Manual.pdf

10.CHANGELOG
V1.0
e Published user manual

EGy ELECTRONICS

37



NOTES




CONTACT US

support@eg4electronics.com
(903) 609-1988
www.eg4electronics.com


mailto:support@eg4electronics.com
http://www.eg4electronics.com/

	1. Technical Specifications
	2. Abbreviations
	3. Inverter Safety
	3.1 Safety Instructions
	3.2 Important Safety Notifications

	4. Sécurité de l'onduleur
	4.1 Instructions de sécurité
	4.2 Notifications de sécurité importantes

	5. Battery Safety
	5.1 Safety Instructions
	5.2 Important Safety Notifications

	6. Sécurité de la batterie
	6.1 Consignes de sécurité
	6.2 Notifications de sécurité importantes

	7. Product Overview
	7.1 Packing List
	7.2 Dimensions
	7.3 Battery Placement & Cabling

	8. General Installation
	8.1 Recommended Tools
	8.1 Location Requirements
	8.2 Cabinet, Batteries, & Inverters

	9. Maintenance
	10. Changelog

